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MURURIA  SECONDARY SCHOOL

FORM 3 MATHEMATICS   TUNE UP EXAM    TERM3 2014 

NAME: ……………………………ADM.NO. …………CLASS:……
1.  The ratio of the 12th to the 10th term in a geometric series is 9:1.  Find the common ratios.  3 mks 

2.  A piece of land is shared among ten people such that the first person gets 3 hectares, the second 5 hectares, the third 7 hectares, the fourth 9 hectares and so on.

i.  How much land does the 10th person get?  2 mks 

ii.  What is the total area of land shared?  2 mks 

3.  Solve fully the triangle PQR where P = 12cm, Q = 14cm and r = 15cm.  5 mks 

4.  A triangle is measured and is found to have a base of 7.2 cm and a corresponding altitude of 5.4 cm, each to 2 s.f.  Between what limits does its area lie?  3 mks 

5.  Solve the equation log(3x – 5) = 2log5 – 1


3 mks

6.  The sum of the digits of a two digit number is 13.  If the digits are reversed, the number decreases by 27.  Find the number.  3 mks 

7.  Express in the form a + b   c



1 +   3      -  1 -  3



2 + 3  5       2 – 3  5




3 mks

8.  Simplify the expression.  3 mks



4x – 9x3


       3x2 – 4x – 4


9.  Solve the following quadratic equation using the quadratic formula method.  3 mks 

SECTION 2

Answer any two questions from this section.  20 mks 

10.  a.  Complete the table below for the equation y = x2 + 3x – 6 given  -6 <  x <  4.

	x
	-6
	-5
	-4
	-3
	-2
	-1
	0
	1
	2
	3
	4

	y
	
	
	
	
	
	
	
	
	
	
	


b.  Using a scale of I cm to represent 2 units in box axes, draw the graph of y = x2 + 3x – 6.  3 mks
c.  Use your graph to solve the quadratic equations.  

i.  x2 + 3x – 6 = 0






2 mks

ii.  x2 + 3x – 2 = 0






3 mks

11.  Two equal circles with centres O and Q and radius 8 cm intersect at points A and B as shown below.

[image: image1.png]



Given that the distance between O and Q is 12cm and that line AB meets OQ at x, find:

a.  The length of chord AB.




2 mks

b.  The area of the shaded region.  6 mks 

c.  the reflex angle AOB.





2 mks

12.  The taxation rates for income earned in a certain year were as follow:

Income k£ p.a


       Tax rate sh. Per £


    1 – 4512




2


4513 – 9024




3


9025 – 13536




4

13,537 – 18,048




5

18,049 – 22,560




6

Over 22,560





6.5


After a personal relief of sh.1056 per month, Mzalendo paid tax amounting to sh.18,152 that year.

a.  How much tax would Mzalendo have paid that year if he did not get personal relief.  2 mks

b.  Find Mzalendo’s taxable income in K£ that year.  5 mks 
c.  Mzalendo receives allowance amounting to 18% of the taxable income, calculate his monthly basic salary in Kenya shillings.  3 mks


